2 ZIEINDEE
*ita+b, c+dDODEAFKODEREL.
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act+ad+bc+bd
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(a+b)c+d)=ac+ad+bc+bd
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(¢ +b)(c+d=ac+ad+bc+tbd
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1. BEARE (x—5)(y+3)=xy+3x—5y—15

2. BBENDIEE

3. BRENDIEE

(3x+2)(x—4)=3xC12YG 208
e

(2a+3b)(5a+2b)=10a?+4ablt15ab+6b>

b

10a2(+19ad+6b2

4, BASODBE (a+t2b-4)(a+3)=a’T3+2ab+6bC 4012

V. —
=a2(Ca+t2ab+6b—12

(RE1) ROAZEBLESL.

(1)) (a+b)(c—4d)

3) (x+2)y+3)

5) (x+2)(x+6)

(7) (2a+1)a+4)

(9) (B3a+2b)(2a+3b)

(1) (7x+4y)(x—5y)

AN
(13) (@+()(a +b=1)
<177

BGIN5. FEEBEDFENTED,

(2) (a—b)(c—d)

(4 (x—1)y+4)

6) (x —4)(x+5)

(8 (3x+5)(4x—7)

(100 (9a—2b)(5a+6b)

(12) (2 x—3y)(8x—y)

(14) (a+2b)(2a+b+1)
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